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BEXEE (Level 1)
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y=x
zZ=axr +Yy
(way)a LY



import numpy as np

X = np.array([1,2,3], dtype=np.float64)
y =X

y = np.copy(x)

a = 100.0

z=a*x+y

np.dot(x, y)
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y = Ax
y=Alz
A= zy



import numpy as np

A = np.array([[1,2,3], [4,2,1], [5,3,2]], dtype=np.float64)
X = np.array([1,0,2], dtype=np.float64)

np.dot (A, X)
np.dot(np.transpose(A), X)

X
y

np.array([1,0,2], dtype=np.float64)
np.array([1,2,3], dtype=np.float64)

np.dot(np.reshape(x,[3,1]), np.reshape(y,[1,3]))
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BEARE (Level 3)
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C = AB
C=A"B
C = AB?
C =A'B?

F—RTISZTTEHR



import numpy as np

= np.array([[21,2,3], [4,2,1], [5,3,2]], dtype=np.float64)
= np.array([[1,0,3], [0,2,1], [0,3,2]], dtype=np.float64)
np.dot(A, B)

np.dot(np.transpose(A), B)

np.dot(A, np.transpose(B))

np.dot(np.transpose(A), np.transpose(B))

A
B
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